

GOVERNMENT OF ODISHA FISHERIES & ANIMAL RESOURCES DEVELOPMENT DEPARTMENT



Scheme: Support to Farmers for Establishment of Semi-Commercial Pig Farming in Individual Mode during the year 2022-23 to 2024-25 (OMBADC)

AIM:

The aim of the scheme is to support 200 nos. of small entrepreneurs for setting up of pig farms with a capacity of 5 female + 1 male pigs male goats for income generation (Total 90 No's of farmers for 3 years i.e 2022-23 to 2024-25).

SCHEME OBJECTIVE:

- To create small mother units with 5 sows and 1 boar at individual level..
- To support the nutritional requirement of the people through consumption of animal protein.
- To build the capacity of the farmers for undertaking pig farming as a profitable mini-enterprise
- To create employment as well as enhance supplementary income for farmers in rural areas

SCHEME OUTLAY & SUBSIDY:

- Unit cost of (10+1) pig farm under the Scheme is Rs. 2,10,000/-
- Subsidy amount @ 100% of the unit cost amounts to Rs.2,10,000/– (Back Ended to the very poor mining affected individual of the community.

ELIGIBILITY:

• The to the very poor mining affected individual of the community.

SOURCE OF FUNDS & CONTRIBUTION:

State Plan

COST OF ONE PIG UNIT:

SI.No	Items of Investment		Specification	s Units	Unit Cost Rs	Cost in Rs.
Α	CAPITAL INVESTMENT					
1	Civil Construction					
а	Sty construction	390) Sq. Ft	Rs	200	78,000
b	Electrification	2.0° cos	% of civil			1,560/-

	Sub-Total					79,560/-
3	Plant & Machinery					
а	Equipment for Animals	6	numbers	Rs.	100	600
b	Weighing machine	1	numbers	Rs	750	750
4	Animal & Plant Cost					
а	Purchase cost of Sows	5	numbers	Rs.	6000	30,000
b	Purchase cost of Boar	1	numbers	Rs	8000	8,000
	Sub-Total					39,350/-
	TOTAL CAPITAL COST (1+2+3+4)					1,18,910
В	RECURRING EXPENDITURE TO BE CA	PITALISE	D			
а	Concentrate Feed Cost for 365 days @ 3kg/day/Adult (40 %)	2678	Kg	Rs	22	58,916
	Fattener for 180 days @ 1.5 kg/day/ 10 Animals (30 %)	810	Kg	Rs	25	20,250
b	Roughage Feed		Kg	Rs	Own A	rrangement
С	Medicines & Vaccine 1st Yr	6	Numbers	Rs	200	1,200
d	Medicines & Vaccine for piglet 1st Yr	48	Numbers	Rs	50	2,400
е	Insurance of Pigs	6	No	%	7.5	2,850
f	Miscellaneous	LS				5,474
	TOTAL RECURRING EXP.					91,090
	TOTAL PROJECT COST					2,10,000

PROFITABILITY STATEMENT

S1. No.	Particulars	lst yr.	2nd yr.	3rd yr.
I	COSTS			
a	Recurring costs			
b	Cost of Feed (Concentrate feed)	58,800	58,800	58,800
С	Medicine & Vaccine Cost	1,200	1,200	1,200
d	Power bill	5,000	5,000	5,000
	TOTAL COST	65,000	65,116	65,116
п	BENEFITS			
a	Sale of piglets	90,000	90,000	90,000
b	Sale of manure	20,000	20,000	20,000
	TOTAL BENEFIT	1,10,000	1,10,000	1,10,000
ш	NET BENEFIT	45,000	45,000	45,000

FINANCAL ASSISTANCE THROUGH DBT:

Rs. 2,10,000/- as back ended subsidy per very poor mining affected individual

- ❖ Ph-I (20% of Rs. 2,10,000/- i.e. Rs. 42,000/-) after completion up to lintel level of Pig shed (Sty).
- ❖ Ph-II (20% of Rs. 2,10,000/- i.e. Rs. 42,000/-) after completion along with Electrification of Pig shed (Sty).
- Ph-III (60% of Rs. 2,10,000/- i.e. Rs. 1,23,150/-) after stocking of animals (5 Sows & 1 Boar).

(Rs. 2,850/-) towards cost of Insurance of 6 no's of Pig Units.

SUPPORT FROM THE DEPARTMENT:

- 1. Training will be organized at regional level or any other convenient place after final approval of the list..
- 2. The skill up-gradation training for individual will be arranged along with visit to a nearest pig farm under ongoing farmer capacity building program.
- 3. Individual will be trained on recommended management practices on feeding, breeding, preventive health care, record keeping, etc.
- 4. The concerned Livestock Inspectors, Gomitras and PraniMitras will have to guide the farmers in field for managing the pig units..
- 5. The capacity building of LIs, Gomitras, PraniMitras will be taken up by the Dept.

DOCUMENTS REQUIRED:

- 1. Identification proof (Aadhaar card)
- 2. Land document/lease deed (Photocopy)
- 3. 40%/50% of project cost to be Self financed / Bank loan
- 4. If bank loan consent letter from bank
- 5. Bank A/C no. with IFSC code for DBT (Photocopy)
- 6. Self-declaration with form/Application Form.

PROCESS FOR PROVIDING SUBSIDY:

- 1. Online application in the **GO Sugam** Portal (https://sugam.odisha.gov.in)
- 2. BVO checks document, upload photographs and submit verification report to CDVO
- 3. Approval by district CDVO and issue of Go-ahead post approval of DLC

- 4. Physical verification of the completion of Sty by Block Inspection Team(BIT)
- 5. Release of first installment through DBT
- 6. Physical verification of partially animal induction by Block Inspection Team(BIT)
- 7. Release of second installment through DBT
- 8. Physical verification of fully animal induction by Block Inspection Team(BIT) completed project & its management by BVO/SDVO/ADVO.
- 9. Release of final installment through DBT

TRACKING STATUS OF APPLICATION & COMPLAINTS:

- 1. Status can be tracked online in the Go Sugam Portal
- 2. SMS alerts are provided to the beneficiaries and concerned stakeholders

WAYS TO SUBMIT APPLICATION:

Direct application by citizens online	Application at BVO Office	Application at CSCs
✓	✓	✓